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Number System
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1. Find three rational numbers between 7and l—l.at equal intervals [CBSE-2014]
2. Represent /4.2 on the number line.[CBSE-2016]

3. Express the following in the form ¥4 where p and q are integers and q # 0.

q
(i)0.46 (i)2.672 (ii)0.2451 iv) 2.8

4. Visualize 7.35 on the number line up to 4 decimal places.

5. Find the value of a and b if

~l 4 +by3 [CBSE-2014]

3
J3+1

If 4+3J— =a+ b«/_ find a and b.
4-3y5
SB. If 5+43 =94a +3/3b. find a and b. [Dps-Annual- 18]
7-443
+«/_ Tl
6. If /5 =2.236 and V6 = 2.449, find the value of L[CBSE-2016]
\/—+w/_ 5-43
71A. If a \/— V2 and b:Mz—,ﬁndme value of a’+ b*+ 5ab. [CBSE-2016]
i V3-42
Dl ¥2 -1
7B. Ifx=x= and y = , Find the value of x*> +xy+y’. [Dps Annual- 18]Ans: 35
S L P i
7C.  Simplif SR ST, BTN S Pny SO
. Simplify: : -
+45 5+46 J6+4T JT+48 J8+40
1 1 1 1
7D. Prove that : i % S =1. [CBSE-2011]
3447 T+45 J5+43 B+1
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a+2 ++va-2b

, evalyate bx % —ax +b.
\/a+2 —a-2b
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9 Ifx=9-4+/5 ,thenfind Vx - —=.

Jx

10. Ifx=2 —1/5, then find the value of X> + LB and x3 - 1
X

8. Ifx
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11.  Represent each of the following on the no. line. 20 3

-2
Y
9"x32x(3 A] =

33"1 % 23

ullw
[« J RN}

12. If

1
= E , prove that m —n =1. [CBSE-2016]
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=3 -3 -3
4 % (E) 2 +(§) [CBSE-2014]
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14, If X is a positive real number and exponents are rational numbers, simplify:

b (b+c-a) S (c+a—b) @ (a+b-c)
X X X
e X|— Xl= . [CBSE-2011]
X X X

I5. Find the value of x if (i) 5*~2.32X"3 = 135 (ji) 2*-7.5%"4 = 1250

Polynomials

1. Using factor theorem factorize x * —2x > 9x +2x+8

2. Determine whether 3x —2 is a factor of 3x° + x> —20x +12. [CBSE-2016]

3. Find the value of x*+y’+9xy 27 if x+y =3. [CBSE-2016]

4 Examme Wthh of the numbers 1, -1 and -3 are zeroes of the polynomial
2x* +9x* + 11x* +4x -6, [CBSE-2014]

81
13) Simplify: —
implity (16)

-
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Find the value of the polynomial P(x)=x* —4x> + 3x* -l at x =1, ?, E and —2. [CBSE-2016]

6. Find the quotient when f(x) x3 +3x% + 3x + 5 is divided by g(x) = x+2. Also find the remainder. [CBSE-2016]

7. The polynomial x *2x%+3x? —ax +b when divided by x~1 and x+1 leaves remainder 5 and 19 respectively. Find a and
b.[Dps Ann -18]

8. Find the value of a and b so that ax * +2x *-3x > +bx+4 is exactly divisible by x > - 4.

9. What must be subtracted from x * +4x > —6x 14 to obtain a polynomial exactly

divisible by x2_x~2,
10. Find what must be subtracted from the polynomial 4y* + 12y* + 6y* 50y + 26 so that the obtained polynomial is exactly
divisible by y* +4y+2. [CBSE-2014]
I1. Without actually calculating the cubes , find the value of each of the following;

(i) (-12)°+@8)’+@)°

(i) (28)°+(=17) +(-11)°
12. Factorize:

(i) (1-=x? )(1-y? J+4xy

(iv) x2+iz—3
X

(iii) a’-b>+1+3ab

Gv) -1 +3( - b2)+ 10(a2 - bz)z
) (y* 2y)* -3(y-2y)(z-2) +2(z-2)
13. Factorise: 9x* + +4z" + 6xy + 4yz + 12zx.[CBSE-2014]
14.  Factorise: 20x> —9x +1. [CBSE-2014]
15. Factorise: x*+4. [CBSE-2014]
16. Factorise: 2u —3u —17u+30. [CBSE-2016]
Factorise: x” +13x +32x+20. [Dps-Annual-18]
17. Evaluate: (999)° using smtable 1dent1ty
18. If x+y +z=0, show that xé +y’ +7° = 3xyz. [CBSE-2014]
19. Ifx=2-y, then show x° + 6xy+y’ -8=0. [CBSE-2014]
20. Factorise: a’ —b’ + 1 + 3ab. [CBSE-2014]
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21. Verifythat: x+y+z—3xyz= 5(x+ y+2z) [(x— Y +(y—-2)+(z —x)zl[Dps-Annual-IS]
22. Ifa’+b*+c’=16and ab+bc+ca=10, find the value of a+b+c. [CBSE-2016]
23. Simplify: (6m-n) ( 36m* 6mn+n®) + ( 3m +n)* [CBSE- 2016] .
n—q
m-—p :
25. What are possible expressions for the dimensions of the cuboids where volume is 12ky*+8ky -20 k

24. If (x+a) is a factor of (x 2 +p x +q) and (x imx+ n)then, prove that a=




